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M.A. GEOGRAPHY
Geography of India
1st Semester Examination, Session December 2024

Time : 2:00 Hrs. Max. Marks : 70

Note :— This paper is of Seventy (70) marks divided into
Two (02) Sections ‘A’ and ‘B’. Attempt the
questions contained in these Sections according to
the detailed instructions given therein. Candidates
should limit their answers to the questions on the
given answer sheet. No additional (B) answer

sheet will be issued.

M :— I8 Y-TF W (70) 3Thi F1 ¥, S < (02) WUE
‘w' g ‘@' § fawfa g1 T@w @UE # fiu
forega el & STTAR & U9 ol 1 LAl § 1 GRiemet
37T gvt @ IO §1 TF I-YlkaenT ak & diad
@ Fig StfaRa () FTX-GRaer SRt 7@ @i
ST |
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Section-A
(Tus-)
Long Answer Type Questions
(S e we) 2x19=38

Note :— Section ‘A’ contains Five (05) Long-answer
type questions of Nineteen (19) marks each.
Learners are required to answer any two (02)
questions only.

e :— wus ‘%' § ur= (05) < ST A K3 T €, ude
9 & fere S+ (19) i fAuifa €1 fnanfeat =
T 9 hoet ar (02) W & SW A § |

1. India is known as the country of “unity in diversity”.

Elaborate.
a1 “fafauar § T’ 1 39 e S © 2 foer 7
R |

2. Explain in detail the relief surface of Himalayan

Mountain region.
feurer 9dq &9 1 SeuEETd 9dg w1 famr ¥ 9uH
HifST |
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3. Give a detailed account of Ganga river system.
T 7St 7 o1 foga foerw Sl

4. What do you mean by Monsoon ? Discuss its various
meanings.
AFYA | AT 1 g9d § 2 39 fafu= st o=t
SHIFST |

5. Explain the geographical classification of forests of

India ?

IR o a1 1 AT aPehiol Sasy |
Section-B
(TUs-19)

Short Answer Type Questions
(g ST W) 4x8=32

Note :— Section ‘B’ contains Eight (08) Short-answer type
questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
e — @us ‘@' F 3e (08) 7Y ST UA A M ¥, v
v & feTu e1a (08) e fuifia €1 frenferdt < s

Y Haet TR (04) ¥ & W <A T
A—-653/GEOG-503 (3) P.T.O.



Explain Indo-China Border.
qRA-<4 HH1 sl FH3T |

Why is the average sex ratio of India decreasing ?

Explain.
WA 1 i femgama =0 5 @1 ¥ ? e S|

How does urbanization impact employment pattern

and opportunities in India ?

IR YR H YR & WY 3TN AT &1 fhg g
HTfeId sheaT & 2

How does lack of access to healthcare impact tribal

populations ?

Wree Ya Ik Ugd i HH TS A W fhg Jhr
T A § ?

What are the potential long-term consequences if
the population problem in India is not effectively

managed ?

Ffg YR H SEEA FHE i GHTEt & § FeET 6l fhan
TN A sHeh grvrfad <reehTferer afoms @R 2 2
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6. Why is irrigation important for agriculture in India ?
IRa H e & forg fo=r = qecayf ¥ 2

7. Describe the great plains of India.
9RA o TRt Hemi 1 9 it |

8.  When and where first cotton textile industry in India

was established ?

IRA | Y Gl o & e SR el w@nfyd gan ?
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